SN2
I 2oy ¥ WEHYRA(LA/ZAASF)
ool 2oy

% 5 15|
SN Y- SAEA) - MRAY - BES 01l &k o i 52
2 Eatel 41,934,121 20,668,651 21,265,470
= 14,044,602
J| 14,313,089
= 13,576,430
29y LAYz (BA/BHAR) 41,771,308 20,594,682 21,176,626
= 14,044,602
J| 14,289,272
= 13,437,434
ZgEg o 2 22 41,771,308 20,594,682 21,176,626
= 14,044,602
J| 14,289,272
= 13,437,434
THoll &<t ol g 2tel 54,200 54,330 A 130
202 44l 5,200 5,330 A 130
01 = LHA Bl 5,200 5,330 A 130
ogs & & 5,200
206 M =4l 49,000 49,000 0
01 M= 4l 49,000 49,000 0
O THoH & < ot 49,000
stely Mo 2 & 502,100 286,500 215,600
307 glz2tol & 462,100 286,500 175,600
02 QIHH &AL E X 12,000 12,000 0
Ostug K 12,000
05 It &S 450,100 274,500 175,600
ostdd o 450,100
402 QI2EXt= 0l A 40,000 0 40,000
01 QI XHE ALY 2 2 (KM &) 40,000 0 40,000
oolsd &z 40,000
st et 2tel XI& XX e 69,312 83, 160 N 13,848
= 34,656
= 34,656
308 XXl EHH SOl 69,312 83, 160 A 13,848
= 34,656
= 34,656
01 XXIEHH B & 69,312 83, 160 A 13,848
OOt shdiol 69,312
= 34,656
< 34,656
Oiol= dgns ¥ 40,950 58,500 A17,550
307 212+01 A 40,950 58,500 A 17,550
02 IZtHAAMSE X 40,950 58,500 A17,550
oolol= ol 40,950
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SN Zegeel

M 2oy o Yoy (2H/2AR)

ool 2oy oy 2 el (&5 &8
2N -3 - (3H) - NHEAMY - BE= Ofl &F o ﬁlgi Hws2
WOI= ¥ oY NAHEX(ZD)(HE) 207,466 207,466 0

pJ 103,733
= 103,733
301 LErR 2 207,466 207,466 0
b 103,733
< 103,733
01 ASI 2 &= 4512 207,466 207,466 0
OHIVZgiel W2l 207,466
b 103,733
= 103,733
Mol= % SHoY NKNMBE(=D) 37,718 37,718 0
b 37,718
308 XX EHAISOIA 37,718 37,718 0
b 37,718
P EP RS 37,718 37,718 0
ON0I= ¥ S0y X 37,718
b 37,718
20 U EXAY 210,498 249,118 138,620
307 212+0| ® 123,040 152,000 128,960
05 812+9ler 3 123,040 152,000 128,960
oMY L N8EE 28,800
OZ#BRIAY K 87,040
ORABMBRINAY 2 7,200
308 XX EHAISOIA 87,458 97,118 19,660
01 HXSHMBARES 87,458 97,118 19,660
OHUNS 28 SEIRS 0STR 22,540
OSt I ZMAZE XIILA 2 51,442
ozHaN E L BN 13,476
BAA ZHBAL (D) (RE) 46,028 8,000 38,028
pJ 23,014
= 23,014
101 Q121 bl 36,180 0 36, 180
pJ 18,090
= 18,090
04 2RI EZRNSR S 36,180 0 36, 180
ORAL AHBIANY ALY 36,180
b 18,090
= 18,090
202 01t 9,848 8,000 1,848
b 4,924
= 4,924
01 2ot bl 9,848 8,000 1,848
oz =X 8,000
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R R
FE: 2oy o DHHYB(LA/2AAR)
Chel: 2reEyY olgs 2 22 (cH A
5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
J| 4,000
= 4,000
OEAHA HH2U ALY 222 4] 1,848
J| 924
== 924
BAHAHAMAZIAIL (2 D) 1,013,528 1,042,504 N 28,976
D] 932,042
== 81,486
308 XX EHMSO0IA 1,013,528 1,006,824 6,704
J] 932,042
c 81,486
01 AIXSHHMABAAEEXZS 1,013,528 1,006,824 6,704
OEAHA 22U A 1,013,528
J| 932,042
== 81,486
ol2J|2 AHsHEI} 22X (=21D) 542,235 462,200 80,035
J| 542,235
308 XHXIEMSO0I& 542,235 462,200 80,035
J| 542,235
01 XIS IABEXRS 542,235 462,200 80,035
Oz J|& ZBHEX} 22X 542,235
J| 542,235
2IHHEEES AA(21) 16, 144,333 14,595,171 1,549,162
J| 12,048,010
= 4,096,323
308 AIXIEHMSOHA 16, 144,333 14,595,171 1,549,162
J| 12,048,010
== 4,096,323
01 AIXSHMBAAEXZ 16, 144,333 14,595,171 1,549,162
O ol HeE=s 7,627,012
J| 5,691,800
== 1,935,212
OB 0lY - RFRXE - =SSN o EAI of &
PSS 1,311,994
J| 979,100
= 332,894
OzstM(18d) QIER X} HYES 175,942
J| 131,300
= 44 642
OUNE BRI HUES 83,214
J| 62,100
= 21,114
OHdo HEYES 6,054,925
J| 4,518,601
== 1,536,324
OBE 2t FAHD| 2 gAY 28,152
J| 21,009
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SN 2EEReD
a2y o DY YL (2A/2AAR)
ool 2y oy L el CEREE]
SA B S (BH) - MEMY - BES Ol & 24 e BlRE2
NETHEE eSS R (2D) 7,000 7,000 0
J| 3,500
= 3,500

201 Lpr2 Y| 7,000 7,000 0
ol 3,500
= 3,500

03 & At2 2 bl 7,000 7,000 0
oNZTEY fIIBAUS REEY 7,000
bl 3,500
= 3,500

MSHY ZESUSRY 1S ¥ 2ANA(2D) 25,500 25,500 0
p] 17,000
= 8,500

308 XX EHH S0/ 25,500 25,500 0
p] 17,000
= 8,500

N EYEREES 25,500 25,500 0
OMEHY (S 2= 25,500
ol 17,000
& 8,500

MSH ZSUSRY HAULED 2HNA(2D) 54,000 19,125 34,875
ol 36,000
= 18,000

403 TIXISHH S X2 0| 54,000 19,125 34,875
ol 36,000
= 18,000

B ETES 54,000 19,125 34,875
OMZH UHl HeRER 7Y X 54,000
bl 36,000
= 18,000

MESH2 HYl HISSA%E NSHE 29(2D) 2,560 2,560 0
p] 2,560

201 Lur2 HH| 2,560 2,560 0
p] 2,560

01 AL 22l b 2,560 2,560 0
OHIZ%E NANY 29 2,560
ol 2,560

2NNY Y2 HL LR N (2D) 161,000 257,700 £96,700
p] 161,000

307 £12H0| & 161,000 257,700 96,700
p] 161,000

02 SIHAMAR BT 161,000 257,700 £.96,700
ORNNFYANEHY ANLRX 244 S 161,000
J| 161,000
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SN 2EEReD
FE: 2oy o DHHYB(LA/2AAR)
ool 2y oy L el (e @
SA B S (BH) - MEMY - BES Ol & 24 e BlRE2
cpBELEY HELA HH 25 (27) 106,000 96,000 10,000
J| 106,000

301 Y BHZ 106,000 96,000 10,000
| 106,000

01 MBI B X452 106,000 96,000 10,000
oBAEAYAY TRAADID 106,000
| 106,000

JERHAYYE H2AA A SSNE)(2D) 1,700 1,700 0
| 1,700

202 14| 1,700 1,700 0
| 1,700

01 =L o1 bl 1,700 1,700 0
oge YW LA NCEHY 1,700
| 1,700

XEI 0K Y TR (2D) 20,350 2,000 8,350
| 20,350

308 XX EHH S 0/ ® 20,350 12,000 8,350
| 20,350

Ol HXSHILEES 20,350 12,000 8,350
OFCSII M 2EE K'Y X 20,350
| 20,350

22t2l0F BB ALY (R D) (XHE) 10,000 10,000 0
2 5,000
= 5,000

201 249 10,000 10,000 0
2 5,000
= 5,000

01 AR 22l 10,000 10,000 0
OLeteOtEXAYE 29 U B2 10,000
2 5,000
= 5,000

2212/0F S AR (2 D) 108,150 108, 150 0
2 108,150

308 XX A S0/ ™ 108,150 108, 150 0
2 108,150

O HXSHILETS 108,150 108, 150 0
©22t2l0t B ALY 108,150
2 108,150

YT BEHAANAG 29 XA (2D) 600,000 600,000 0
2 300,000
= 300,000

307 212+01 & 600,000 600,000 0
2 300,000
= 300,000
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SN 2EEY

a2y o DY YL (2A/2AAR)

Sl 2y oy L e CEERT
SH-BH S (BAH) - HRAMY - BLS 01l &k o e SimE=E"
2AC HAENO 2Y 605,411 605,411

101 @124 8] 484,571 484,571
02 JIE R B 4 34,675 34,675
CEEEEIESR-EE T EE
120,0002! *1% +182.52 21,900
OZTZLACAMN Ol 40,0008 +1% 182,52 7,300
OTEAAN EU224Y
10,000 *1% *3AI 2++182. 52 5,475
04 JIAR2RRSE 4 449,896 449,896
OABA 48 U 4 BEE S 449,896
201 et | 97,840 97,840
01 At 22l t] 94,000 94,000
092 24y 78,000
ONEOAA R24+Y 9,000
oxese +g 1,000
OZE2A A BA 2,700
o=8l AxE 2,000
om4Il YxE 360
OJIE MREEY) 940
02 232l 3.840 3,840
o4gs FHE 23 840
CEEE AT 3.000
307 21201 & 20,000 20,000
01 9222 20,000 20,000
O H bl 18,000
OXIIAA INE 2,000
406 JIEHXHEZ O] B 3,000 3,000
01 JIEFRH =0 3,000 3,000
OBMN BE3 3,000
DELHY YMEIZE AT AME KA 552,000 552,000
101 @124 8] 30,000 30,000
04 JAR2ERNSES 30,000 30,000
ORZLHY AT AAB2 SLHY 12 30,000
201 gt 470,000 470,000
01 AR 22lt] 470,000 470,000
ORE2LHY XX A2 SLIHY 470,000
307 212401 & 52,000 52,000
05 BI2t9IEr3 52,000 52,000
o2 S AL 0130 52,000
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SN 2EEY
I 2oy ¥ WEHYRA(LA/ZAASF)
Sl 2y oy L e CEERT
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
D2LHY S 9B Yoo 29X 1,000,000 0 1,000,000
307 21201 & 1,000,000 0 1,000,000
02 BIABMANLEE 1,000,000 0 1,000,000
ODRLHY HS AR - Yooz +2X 1,000,000
YA AABVRIANE 2 12,800 0 12,800
01 ger2 ) 12,800 0 12,800
01 At 22l t] 12,800 0 12,800
ozgyBeANE +g 12,800
BASERE (2D) 65,158 0 65, 158
2 65,158
308 XHXI €A S0l H 65,158 0 65, 158
2 65,158
01 HASHBLRES 65,158 0 65, 158
OD2LH9 SHOIXH Al 54 65,158
2 65,158
RIEZIZ HYETEE AHI(=1) 17,482,359 0 17,482,359
2 13,046,537
= 4,435,822
308 XFXIEHHI SOl E 17,482,359 0 17,482,359
2 13,046,537
= 4,435,822
01 HXESHIAEXS 17,482,359 0 17,482,359
O ASOABIND WYES Al 17,482,359
2 13,046,537
= 4,435,822
YA (AYER2ID)(OIEHIIE) 162,813 73,969 83,844
| 23,817
= 138,996
23| 91, 104 48,982 42,122
| 23,817
= 67,287
ArZe AR (2 D) 34,332 35,680 A1,348
| 17,166
= 17,166
101 91248 34,332 35,680 A1,348
J| 17,166
= 17,166
03 ZRH(RIHL)IZNE 4 34,332 35,680 A1,348
07123 2,090,500%! 12« 128 25,088
| 12,544
= 12,544
oz2+g 2,000,500 * 12 +25%+23] 1,046
| 523
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S 2z
H: 2P (LEHE 22 D) (IIEHIIE
CHel: olad 29| (ctel &
% = RE]
SN -FH -4 (3H) - HEMNY - BES Ol &F S8 agﬁ Hus2
< 523
OAA2R g 10,8002 *150%+* 12 57 A| 2t 924
Il 462
[= 462
OMXNR3EILY 86,4002 1 10 864
J| 432
[= 432
OmWEHI 100,000 * 1% « 122 1,200
Il 600
= 600
OYEFItt| 2,090,000% 1 2,090
J| 1,045
(= 1,045
OPIE=, 120,000 1% « 122 1,440
Il 720
[~ 720
O] 140,000 1 « 122 1,680
J| 840
[= 840
HYRE & olap=2 A8t s NA(2D) 13,302 13,302 0
b 6,651
[ 6,651
101 @124 4l 13,302 13,302 0
Il 6,651
= 6,651
02 JIEtE 2 4 13,302 13,302 0
ONLEE = 0| atet SERAIZ E = H|
108,500 13 « 122 13,302
J| 6,651
[= 6,651
2UHII M AL LS9 At X A2E XL 43,470 0 43,470
101 @124 4l 43,470 0 43,470
02 JIEtE 2 4 43,470 0 43,470
OZEEHOA A&t s X2 (2¥)
(45,000 «2472 )+(90,0002! x 118 ) ) x2H 43,470
2 & 71,709 24,987 46,722
2H29 J22 71,709 24,987 46,722
201 Ler29y| 53,487 17,541 35,946
01 AtR 22| H 53,487 17,541 35,946
oMY AtR2eltl 53,487
202 04 Hi 14,022 4,446 9,576
01 2LHOIHI 14,022 4,446 9,576
ORM2Y 22U 0H 14,022
203 PR E XY 4,200 3,000 1,200
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